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*HQHUDVL� SHPXGD� EHUSHUDQ� SHQWLQJ� GDODP� SHPEDQJXQDQ� EXNDQ� KDQ\D� NDUHQD�
SHPXGD�PHPLOLNL�MXPODK�\DQJ�EHVDU��DNDQ�WHWDSL�\DQJ�WHUSHQWLQJ�\DLWX�NUHDWLYLWDV�
GDQ� LQRYDVL� \DQJ� GL� PLOLNL ROHK� JHQHUDVL� SHPXGD� DJDU� SHPEDQJXQDQ� GDSDW�
EHUMDODQ� VHVXDL� DUDK��1DPXQ�SHUPDVDODKDQ� \DQJ� WHUMDGL� VDDW� LQL� \DLWX�NXUDQJQ\D�
ODSDQJDQ� SHNHUMDDQ� VHKLQJJD� LGH�LGH� \DQJ� GL� PLOLNL ROHK� SHPXGD� WLGDN� GDSDW�
WHUVDOXUNDQ�� 'L� 'HVD� 1JODQJJHUDQ� WHUGDSDW� %80'HVD 7XQDV� 0DQGLUL� \DQJ�
PHQ\HGLDNDQ� ODSDQJDQ� SHNHUMDDQ� EDJL� SDUD� SHPXGD�� $ODVDQ� %80'HVD 7XQDV�
0DQGLUL�PHQJJXQDNDQ�SDUD�SHPXGD�NDUHQD�SHPXGD� OHELK�SDKDP�NHDGDDQ� VRVLDO�
HNRQRPL�GDHUDKQ\D�GDQ�SHPXGD�PDPSX�PHPDQIDDWNDQ�VXPEHU�GD\D�DODP�NDUHQD�
SHPXGD� PHQJLNXWL� SHUNHPEDQJDQ� ]DPDQ� GDQ� WHNQRORJL� \DQJ� NHNLQLDQ�� 7XMXDQ�
SHQHOLWLDQ� XQWXN�PHQJHWDKXL� SDUWLVLSDVL� SHPXGD� GDODP�PHQJHOROD� %DGDQ�8VDKD�
0LOLN� 'HVD� �%80'HVD��� 'DODP� SHQHOLWLDQ� LQL� PHQJJXNDQ� PHWRGH� NXDOLWDWLI�
GHVNULSWLI� VHEDJDL� GHVDLQ� XWDPD� SHQHOLWLDQ� GHQJDQ� PHODNXNDQ� ZDZDQFDUD��
REVHUYDVL� GDQ� GRNXPHQWDVL�� %HUGDVDUNDQ� GDUL� KDVLO� SHQHOLWLDQ� \DQJ� GL� ODNXNDQ
ROHK�SHQHOLWL�PHQXQMXNNDQ�EDKZD�SDUWLVLSDVL�SHPXGD�GDODP PHQJHOROD�%80'HVD
7XQDV�0DQGLUL�KDQ\D�WHUGDSDW�GL�VDODK�VDWX�SURJUDP�\DQJ�DGD�GL�%80'HVD 7XQDV�
0DQGLUL�\DLWX�SURJUDP�ZLVDWD��+DO�WHUVHEXW�GDSDW�GL�OLKDW PHODOXL�WLJD�����LQGLNDWRU�
SDUWLVLSDVL� \DLWX� SHPLNLUDQ�� NHDKOLDQ� GDQ� WHQDJD�� 6HODLQ� LWX�� MLND� GL� OLKDW GDUL�
SHUVSHNVWLI�(NRQRPL�,VODP�WHUGDSDW�GXD������DNDG�\DQJ�GL�JXQDNDQ GDODP�SURJUDP�
VLPSDQ� SLQMDP�� \DLWX� DNDG�7DEEDUX¶�$O�4DUG� GDQ� DNDG�0XGKDUDEDK� 3DUWLVLSDVL�
SHPXGD� SDGD� VHOXUXK� XQLW� XVDKD� %80'HVD VHKDUXVQ\D� GL� LNXW� VHUWDNDQ� GDODP�
SHQJHORODDQQ\D�
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<RXQJ� JHQHUDWLRQ� SOD\V� DQ� LPSRUWDQW� UROH� LQ� GHYHORSPHQW� QRW� RQO\� GXH� WR� WKHLU�
ODUJH� TXDQWLW\� EXW� DOVR� WKHLU� FUHDWLYLW\� DQG� LQQRYDWLRQ� LPSRUWDQWO\� HQDEOLQJ� WKH�
GHYHORSPHQW�WR�EH�RQ�WKH�WUDFN��1HYHUWKHOHVV��WKH�LVVXH�RFFXUUHG�WRGD\�LV�UHODWHG�
WR� WKH�ODFN�RI� MRE�YDFDQFLHV�WKDW� ODWHU�RQ�PDNHV WKH�UHDOL]DWLRQ�RI� WKH�LGHDV�IURP�
WKH� \RXWKV� KLQGHUHG�� 1JODQJJHUDQ� YLOODJH� KDV� %80'HVD� �9LOODJH�2ZQHG�
(QWHUSULVHV��QDPHG�7XQDV�0DQGLUL�SURYLGLQJ�WKH�MRE�RSSRUWXQLWLHV�IRU�WKH�\RXWKV��
7KLV�HQWHUSULVH�LV�KLULQJ�WKH�\RXWKV�LQ FRQVLGHUDWLRQ�WR�WKDW�WKH�\RXWKV�XQGHUVWDQG�
DERXW�VRFLRHFRQRPLF�FRQGLWLRQ�LQ�WKHLU�SODFH�PRUH�DQG�DUH�DEOH�WR�XVH�WKH�QDWXUDO�
UHVRXUFHV�DV�WKH\�IROORZ�WKH�GHYHORSPHQW�RI�HUD�DV�ZHOO�DV�WKH�DGYDQFH�RI�PRGHUQ�
WHFKQRORJ\�� 7KLV� UHVHDUFK� DLPV� WR� REVHUYH� WKH� SDUWLFLSDWLRQ� RI� WKH� \RXWK� LQ�
PDQDJLQJ� WKH� %80'HVD� �9LOODJH�2ZQHG� (QWHUSULVHV��� � 7KLV� UHVHDUFK� XVHG� WKH�
GHVFULSWLYH�TXDOLWDWLYH�PHWKRG�DV� WKH�PDLQ�GHVLJQ�RI� WKH� UHVHDUFK�E\�FRQGXFWLQJ�
LQWHUYLHZ��REVHUYDWLRQ�DQG�GRFXPHQWDWLRQ��7KH�UHVXOWV�RI�WKH�UHVHDUFK�VKRZHG�WKDW�
WKH� SDUWLFLSDWLRQ� RI� WKH� \RXWKV� LQ� PDQDJLQJ� WKH� %80'HVD� 7XQDV�0DQGLUL� ZDV�
RQO\�LQ�RQH�RI�WKH�SURJUDPV�RI�%80'HVD��L�H��WRXULVW�SURJUDP��7KLV�FDQ�EH�VHHQ�
IURP����WKUHH��LQGLFDWRUV�RI�SDUWLFLSDWLRQ��LGHD��VNLOO�DQG�ODERU��,Q�DGGLWLRQ��LI�VHHQ�
IURP� WKH� ,VODPLF� HFRQRPLF� SHUVSHFWLYH�� WKHUH� DUH� �� �WZR�� FRQWUDFWV� XVHG� LQ� WKH�
VDYLQJ�DQG�ORDQ�SURJUDP��7DEEDUX¶$O�4DUG DQG�0XGKDUDEDK��,W�LV�VXJJHVWHG�WKDW�
WKH� \RXWK� SDUWLFLSDWLRQ� FDQ� EH� JLYHQ� LQ� PDQDJHPHQW� RI� DOO� EXVLQHVV� XQLWV� LQ�
%80'HVD��
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